HYDRAULIC SWING CLAMPS | iHE#E&FIZR7

CHS/HSC

R AL

CHS/HSC HYDRAULIC

SWING CLAMP

ERFIE

rEmEAREETHZERERIMCE
B HRSEENRNFEF. TERES
HEELFEIRS, TEE N EBTIETERENE
BIRANAE, BoEEREETEE
FERRIEEE T,

EEERRBEEALL, SMERSEH
B, BRREBR, LINEATRER, &
MIFF T, GLEEHT B ERAMBIE AR
=i, NESERINIRRIE, £EXE, &

RSk,

BRAIRIEES: 70 kgf/cm?
B/IMEIEES]: 15 kgf/cm?
eI B3

TEEIR

RE N A PR EHEE AR,
HHEERENEENSEBRERESH

1.5,
BEREREENEERFILE, FER
$BAE,

069 | S HEL RS

FEATURES

The CHS/HSC series is made with industrial grade
carbon steel and processed with hardened surface
treatment to increase durability and extend product
lifespan. It is designed to increase production
efficiency for machinery and MC fixtures used for
mass production. During the actuation state, the
piston rod will drive the clamping arm downward
and rotate to the desired position and angle. When
the swing clamp is in action, the piston rod will drive
the clamping arm to press down and rotate to the
desired position and angle, thereby clamping the
workpiece. For operational instructions, do not
clamp the workpiece during the rotation. Also,
installation of a flow control valve is highly
recommended to help avoid excessive speed.

Max.operating pressure: 70 kgf/cm®
Min.operating pressure: 15 kgf/cm?
Double acting

NOTE

ZmE Sectional view

FRERRESE
(B
REEIEEBRN )

SIRHEER
=HEE

The action and the speed of clamping / unclamping needs to be slowed dow

n appropriately.

The length and weight of the customized clamping arm shall not exceed 1.5

times of the standard clamping arm.

Please refer to page 4 for the rotation diagram, installation instructions and

removal methods of the clamping arm.

FTHEIZN% ORDERING INDICATION

fl: CHS-MF25SR-90-E
CHS Z7% Series CHS/HSC

=H: BEERX Line type

TB: £78

MF: HERHRHIEEER Manifold with flow control FAM:

M: HESHREY
FA: jARaEY

Manifold type
Flange type

Threaded body
Flange with manifold

B HEER

FAMT: EREESHERIRMEEE Flange with flow control

MF  %E%Type O mjﬁ Wﬁl

+ L) J

LINE TYPE MEMANIFOLD WITH M:MANIFOLD TYPE
EER FLOW CONTROL M: B IRE
MF: HE AR

THELARE
25 Hydraulic cylinder
inside diameter

25, ®32, ©40, ®50, P63

O T\

i

T T
FA:FLANGE TYPE
FA: SRR

g A
7 U

o
TB:THREADED BODY FAM:FLANGE W ITH FAMT:FLANGE WITH FLOW
TB: FH MANIFOLD CONTROL

FAM: ARELHEEHR FAMT: SRS R B

S [EEREIS S:ERIEER S: Single side arm
Clamping arm type D:E£12ER D: Double side arm
R A5 R: IERFET G L: JHRFEAcHE N:O° A hieke
Swing direction R: Turn right L: Turn left N:0° No swing
920 EHEAE IEEAE HEEETE
Swing angle Standard angle 90° (+2°) Order angle 0°, 45° (£2°) ,60° (+2°)
E TEMRE TREmRE Stroke extension (EEEIIREREEMFIERTR)
g2k SPECIFICATIONS
e AR pa— T & sthdi=em L EERN IMRTE EETE IRTE AAZE EHSE  FERE
R qokgt/em) WEOR  mmime mae BOe0R WEROR Cop goam guewm musm O mEm 0 @R ®E
CLAMPING SWING STANDARD EXTENDED STANDARD EXTENDED OIL STANDARD OIL EXTENDED OIL STANDARD OIL EXTENDED EFFPISTON EFFPISTON RANGE OF
MODEL FORCE AT STROKE (mm) CLAMPING CLAMPING TOTAL STROKE ~ TOTAL STROKE CAPACITY CLAMP  CAPACITY CLAMP CAPACITY UNCLAMP  CAPACITY UNCLAMP AREA CLAMP AREA UNCLAMP TEMPERATURE
70 kgf/cm’ (kgf) STROKE (mm)  STROKE (mm) (mm) (mm) (am) (cm) (cm) (cm) (cm) (cm?) ({e)
CHS 115 13 245 581 12.03 )
CHSHSC25 166 hoc g™ 13 ’ 2 ’ 521 ) 108 L gl
CHS 145 15 30 295 445 1445 21.81 2372 37.38 )
Gisjnsies 225 HSC 11 15 30 26 41 12.74 20.09 20.90 32.96 49 804 -10~+70°C
CHS 145 15 30 295 445 2543 3836 37.05 55.89 )
CHSMSCAD 603 e 117 15 30 26 41 241 3534 366 5150 002 1256 -10~+70C
CHS 16 17 34 33 50 4445 67.35 64.78 98.15 )
GriinsGEy A HSC 13 17 34 30 47 4041 63.31 58.89 92.26 1347 1963 -10~+70°C
CHS 16 17 34 33 50 70.16 1063 10283 1558 .
Sekias Gl E HSC 13 17 34 30 47 63.78 99.92 9348 14645 2126 31.16 -10~+70°C
CHS-80 2639 CHS 15 15 - 30 - 1131 - 150.72 - 377 5027 -10~+70°C
[T
Only Line type

EFEIEE | AENR 15O FEEARAY 1SO-VG-32 —RREH
Recommended: ISO-VG-32 hydraulic oil equivalent to ISO viscosity grade

PNEUMATIC & HYDRAULIC CLAMPS | 070



Beest LINE TYPE-S Feest LINE TYPE-D HESHRBRE MF-S HESHRBAERE MF-D

Single side swing clamp

Double side swing clamp

i1 TEREBEI0°FEFIARE

Single side swing clamp

Double side swing clamp

it TEREMOZFRNE

L

L
! © O . , ,
A B /"'"'_“\\ . .E}/,—-é—-\@ L |
I - - [— e =~
L I | L = ! !
[ M ! . [ ! O\"--_'ﬁ-‘l"@ . ]
- | - {
- K e r M
4-=IL s - - d=L
i J . 5 K _
F_“ } a1 . 6o E . J _-Fl'..'u' Kdin.5
Iﬁ I ' - G2 -
N ) L S | I & 2 i ;
L] ] m
Ev = | |—|I 1 ‘ D | =]
W a L & E2 o & —
' - - ' E2 Q n
' A{E}m _ = A m . Ca '
I T = R T = | = =1
z - @ _ al T ask, B L LTI X
i M i N @ 1]
1
ol BOM o Bidm o ¥ f
21- LI L | LI I | .*J_":n- L& E o
__N l.. oL ] L L] - L [} 1]
® #&$HmFL Clamping port == e
(® HEHFL Unclamping port (A FFFHFL Clamping port
®HERHFL Unclamping port
Unit:mm
NII%IR/'EL CHS/HSC-25 CHS/HSC-32 CHS/HSC-40 CHS/HSC-50 CHS/HSC-63 CHS-80 Unit:mm
STSwing CHS 24.5:11.5/13 295:145/15 445:145/30 29.5:145/15 44.5:14.5/30 33:16/17 50:16/34 33:16/17 50:16/34 - MODEL CHS/HSC-MF25 CHS/HSC-MF32 CHS/HSC-MF40 CHS/HSC-MF50 CHS/HSC-MF63
/Camping HSC — 22:9/13  2611/15 411130 261115  41:11/30 30:13/17 47:13/34 30:13/17 47:13/34  30:15/15 ITEM
A1 Undamping CHS 104 118 148 123 153 137 171 142 176 142 ST:Swing CHS 24.5:11.5/13  295:145/15 445:145/30 29.5:145/15 445145/30 33:16/17 50:16/34 33:16/17 50:16/34
HSC 101 115 145 120 150 134 168 139 173 - /Clamping HSC 22:9/13 26:11/15 41:11/30 26:11/15 41:11/30 30:13/17  4713/34  30:13/17  47:13/34
A2 Undlamping CHS 127 144 175 150 180 167 201 177 211 187 A1 Undamping CHS 104 118 148 123 153 137 171 142 176
HSC 124 140 170 148 178 166 200 175 209 - HSC 101 115 145 120 150 134 168 139 173
B 76 85 100 90 105 100 117 105 122 105 A2 Undamping CHS 127 144 175 150 180 167 201 177 211
C 27 30 30 34 34 34 HSC 124 140 170 148 178 166 200 175 209
D1 16 18 18 20 23 28 B 76 85 100 90 105 100 117 105 122
D2 27 31 31 37 48 52 C 22 25 25 30 30
D3 019 22 22 25 32 34 D1 16 18 18 20 23
E1 M10 M10 M10 M12 M16 M16 D2 27 31 31 37 48
E2 ©8 98 910 @12 @15 916 D3 019 022 022 (125 032
E3 M14x1.5 M16x1.5 M18x1.5 M20x1.5 M24x2 M30x2 E1 M10 M10 M10 M12 M16
F 10 10 10 12 15 20 E2 98 98 910 @12 @15
G1 50 55 60 65 75 85 E3 M14x1.5 M16x1.5 M18x1.5 M20x1.5 M24x2
G2 140 160 160 180 200 220 F 10 10 10 12 15
H 9 10 10 12 15 16 G1 50 55 60 65 75
ol ©46 ®50 @54 ©66 980 9100 G2 140 160 160 180 200
J 52 56 63 72 88 110 H 9 10 10 12 15
K 40 44 48 57 70 87 Ol P46 @50 54 p66 80
L 6.8 6.8 ©9 99 @11 ®13 J 55 57 63 72 88
M PT1/8 PT1/8 PT1/8 PT1/4 PT1/4 PT1/4 K 42 44 48 57 70
N1 8 10 12 15 17 17 L 6.8 6.8 ©9 ©9 @11
N2 17 19 19 215 22 25 M 19 21 23 28 32
N3 46 52 67 57 72 63.5 80.5 68 85 65 O-Ring P7 P7 P9 P9 P9
Q @18 ®20 @224 ®28 @355 40 Q @18 ®20 @224 28 @355

071 | | HEE R 5

PNEUMATIC & HYDRAULIC CLAMPS | 072



SRR M-S

Single side swing clamp

FI. - ':31 -
S| i
~ P
25 | 0] B3 3
4
T
L o ("
3]
L
b
=4
L] 1 1
O-Fing

® 3&$EHFL Clamping port
® FEEHFL Unclamping port

MODEL
ITEM CHS/HSC-M25 CHS/HSC-M32
STSwing CHS 24.5:11.5/13 29.5:14.5/15
/Clamping HsC 22:9/13 26:11/15
Al CHS 104 118
Undamping HsC 101 115
A CHS 127 144
Undamping HsC 124 140
B 76 85
D1 16 18
D2 27 31
D3 o19 022
E1 M10 M10
E2 8 @8
E3 M14x15 M16x1.5
F 10 10
G1 50 55
G2 140 160
H 9 10
J 55 57
K 42 44
L 96.8-910.5 @6.8-¢105
x6.5D x6.5D
M 18 22
N 20 2
O-Ring P7 P7
Q ®18 ©20

073 | S HEE RS

iHEEREY M-D

Double side swing clamp

it TERERI0RHFHINE

= D = |-
e @ -
* ]
K| |
'r‘ J : -
- G2 B
O a8
E2 i g |,.':|I
i
o]
_D-Fling
Unit:mm
CHS/HSC-M40 CHS/HSC-M50 CHS-M63
29.5:14.5/15 33:16/17 )
26:11/15 30:13/17 el
123 137 142
120 134 -
150 167 177
148 166 -
90 100 105
18 20 23
31 37 48
022 025 032
M10 M12 M16
@10 ®12 @15
M18x1.5 M20x1.5 M24x2
10 12 15
60 65 75
160 180 200
10 12 15
69 75 92
52 58 72
@9-¢13.5 @9-9135 @11-917
x9D x9D x11D
26 32 40
26 30 37
P8 P8 P9
224 28 @355




LR8B! FA-S

Single side swing clamp

@i

® 3&$EHFL Clamping port

iABIBY FA-D

Double side swing clamp
71 TEREAFEFIARE

]

F T o ‘:ﬂ:"

E2

® FgzimFL Unclamping port

MODEL
ITEM

@l

278 TB-S

Single side swing clamp

278 TB-D

Double side swing clamp

it TEREMAO°FHFIIRRE

ZPBLHEER FAM-S

Single side swing clamp

A
[ _::
4
- G2 .
]
e 5 -
=1 ¢ e i '5‘,
E2 i o o Bi| | B
e - .2 l.l'.I
(&1} ]
L L] E
hi 3 O-Ring =
m
; Pt
) 1 ]
s Iz 'u'l:? L 1
i s - | . .
.o d2 (A 3&$5HFL Clamping port
T2 . .
i i ® HEEHFL Unclamping port
Unit:mm

CHS/HSC CHS/HSC CHS/HSC CHS/HSC CHS/HSC CHS/HSC CHS/HSC CHS/HSC CHS/HSC

-FA25

-FA32

-FA40

-FA50

ST:Swing CHS 24.5:11.5/13 29.5:14.5/15 29.5:145/15 33:16/17

-FA63

33:16/17 24.5:11.5/13

/Clamping HSC  22:9/13  26:11/15  26:11/15  30:13/17  30:13/17
AT CHS 104 118 123 137 142
HSC 101 115 120 134 139
A2Unc|ampingCHS 127 144 150 167 177
HSC 124 140 148 166 175
B 76 85 90 100 105
C1 22 25 25 30 30
c2 = = = = =
D1 16 18 18 20 23
D2 27 31 31 37 48
D3 019 022 022 025 032
E1 M10 M10 M10 M12 M16
E2 @8 @8 @10 @12 @15
E3 M14x15 M16x15 M18x15 M20x1.5 M24x2
F 10 10 10 12 15
G1 50 55 60 65 75
G2 140 160 160 180 200
H 9 10 10 12 15
ol @45 @50 @58 ©68 @81
12 = = = = =
J 53 57 69 75 90
K 40 44 52 58 70
L 96.8-¢105%65D 6.8-p10.5%6.5D 9-135x9D  @9-9135x9D  @11-917x11D
M1 PT1/4 PT1/4 PT1/4 PT1/4 PT1/4
M2 . . . . .
N 28 32 40 50 63
T1x2PCS = . = = .
T = = = = =
Q ®18 ©20 0224 28 @35.5

075 | &M E & R 5

-TB25 -TB32 -TB40
29.5:14.5/15 29.5:14.5/15
22:9/13 26:11/15 2611715
104 118 123
101 115 120
127 144 150
124 140 148
76 85 90
12 12 15
16 18 18
27 31 31
o19 022 022
M10 M10 M10
@8 ®8 @10
M14x1.5 M16x1.5 M18x1.5
10 10 10
50 55 60
140 160 160
9 10 10
M45x1.5 M50x1.5 M55x1.5
PT1/8 PT1/8 PT1/8
28 32 40
10 11 11
@65 @70 @70
@18 ®20 ©224

-TB50

33:16/17
30:13/17
137
134
167
166
100
15
20
37
025
M12
@12
M20x1.5
12
65
180
12

M65x1.5

@85

EPBLBESHRIERE FAMT-S

Single side swing clamp

B K7L Clamping port
® HEEHFL Unclamping port

APRBYmESR FAM-D

Double side swing clamp

st TEREMA0°FAFIIARE

L Isl ]

D-Ring| T

- * J I '
ZFBLHERRMIERE FAMT-D

Double side swing clamp
at: TEREMAI0FAFIRRE

ER =

Iy

Unit:mm

MODEL CHS/HSC CHS/HSC CHS/HSC CHS/HSC CHS/HSC

ITEM -FAM25 -FAM32 -FAM40 -FAM50 -FAM63
STSwing CHS 24.5:11.5/13 295:145/15 295145/15 33:16/17  33:16/17
/ClampingHsC ~ 22:9/13  26:11/15  26:11/15 30:13/17  30:13/17
Al CHS 104 118 123 137 142
Undamping Hsc 101 115 120 134 139
A CHS 127 144 150 167 177
Undamping Hsc 124 140 148 165 175
B 76 85 90 100 105
C 22 25 25 30 30
D1 16 18 18 20 23
D2 27 31 31 37 48
D3 019 022 022 025 032
E1 M10 M10 M10 M12 M16
E2 @8 @8 @10 @12 @15
E3 M14x15 M16x1.5 M18x15 M20x15 M24x2
F 10 10 10 12 15
G1 50 55 60 65 75
G2 140 160 160 180 200
H 9 10 10 12 15
o] @45 @50 ®58 P68 @81
N 55 57 69 75 90
J2 64 65.5 79 87 104.5
K 42 44 52 58 70
L ©68-¢105 @68-9105 @9-¢135 @9-9135  @11-p17
x6.5D x6.5D x9D x9D x11D
M 20 22 26 30 32
N 28 29 345 39 46
O-Ring P6 P6 P9 P9 P9
Q »18 ®20 224 ®28 ®35.5
Unit:mm
MODEL CHS CHS CHS CHS CHS
ITEM -FAMT25 -FAMT32 -FAMT40 -FAMT50 -FAMT63
o AST1S/13 295145/15 295145/15 3316/17 3316/17

Al
Unclamping CHS 104

A2
Unclamping CHS 127

B
C
D1
D2
D3
E1
E2
E3
F
G1
G2
H
?l
)
J2
K

L

M

N
O-Ring

Q

z

118 123 137 142
144 150 167 177
76 85 90 100 105
22 25 25 30 30
16 18 18 20 23
27 31 31 37 48
019 022 022 025 032
M10 M10 M10 M12 M16
P8 @8 @10 @12 @15
M14x15 M16x15 M18x15 M20x15 M24x2
10 10 10 12 15
50 55 60 65 75
140 160 160 180 200
9 10 10 12 15
@45 @50 @58 68 @81
55 57 69 75 90
64 65.5 77 87 1045
42 44 52 58 70
©68-9105 968-9105 @9-9135 @9-9135 @11-917
x6.5D x6.5D x9D x9D x11D
20 22 26 30 32
28 29 345 39 46
P6 P6 P6 P9 P9
®18 ©20 p224 ®28 @355
275 285 345 375 45

PNEUMATIC & HYDRAULIC CLAMPS | 076





